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Work out the value of x.
Give your answer to | decimal place.
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Given that g(x)= 5x+3
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Work out an expression for g'(x)

| |

4

Write 750 in the form k2,
where £ is an integer.

5 Stafting with XA 1, use the iteration formula
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three times to find an estimate for t
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the value of y when x = 0.25
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6.7 correct to 1 decimal place

L
R 11.81 correct to 2 decimal places

Work out the upper bound for V.
Give your answer to 2 decimal places.
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Speed
(m/s)

20 60 90 >
Time (seconds)

Calculate the acceleration in the first 20 seconds
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9 A circle ha§,-,th quation .

10 The coordinates of the maximum point of a
curve are (2, -5)
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ke Wﬁte down the coordinates of the maximum
)01 t of the curve with equation y = f(x) + 2




